EARAZROREIERT — 2 N—XBISY —F 20175128318 (H) 16[E%#5H

miﬁj—lb KC #5%—fEOP (xwlm | memml - |y ) oo mE
[A&E4£] 1 7% :2,500,000 23&:625,000 ™ ~ 33#&:275,000  ~ 4 3#&:150,000 @ . 5 & :75,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SILJS 4 8 | RFKEL 2:02.8 3-3-2-2 | 38.0| — 3 472 | BERB (BHE)
1 4 AEY =TI 567?) = ) ) o557
Rix>in4o— B:xEYU—FI7U—F [EZ LN
AN > KB E= :03. ~5-4- . — SiEtEy (BHE)
olalg | 7H oAb €29 P 2(023)2 5-5-4-3 | 38.1 2 (4_929) ey
X2 ThHANAN B:LYyIL—X HET7—L
- 44 | EERR 2:03.2 2-2-1-1 [38.6| — 1 504 | HLEEE (%)
3l 7| NEIVT— 55.0 (N 4e) | B) BT L
L7V FFE2Te BT Td1ay RI I BREMHT Y KFv T - Tr—L
N . RN : —7-8- — IEEEfR (5HR)
4 NP=PF V=B 5 i 2.(033).8 7-7-8-7 | 38.1 9 <4+355) ki A
L ZRFAd—IV K B:7—3—-I—Ta EStae]
— =y s EHEKRE :04. —6-6- . — FILELE (G1R)
5 2 Yv=2F1) 4 — 47 = 2(024)2 6-6-6-5 | 38.7 8 ?3)5 z#ii?_ A
RN YZtwT T4 L BVYZLIA4—)L FEHE {8
- — SHEA — el 5| — % (BHE)
N - BEEPEEEEE It R IR b | O | xanx
RxTOANA Y= BHIERYA v F A
. 47 | PEEE 2:04.6 8-7-7-8 [ 39.1| — 4 495 | ER (BHE)
7l8lg| ¥7/ > kA 55.0 (7€) +2) e
L:24¥v ML B:X2730%2X HHE FT—
o1l S N A 1145 : -9-9- — FERRG— ()
8l5|5|7RUSILE= %3 | B R IR A R T e | B
L:b—t>TI534 b Bib—tHYT7147 HRSHE IXTF177—L4
. NN BHENT :05. —1-2- . — TEAE= (5HA
9|11 |FAIVELRELR "8 55.0 2(035)7 fimed |4t ° (5_171) E i
L:Urh—r BYITLE Y — Al &
® I—F—@EBIERL
13—7F— 1,7,4,3,9,2,6,8,5
20—4— 1,7,4,3,9,2,(6,8),5
T =35r= 7,(1,4),(3,9,2,8,6,5
41—F— 7,4,9,1,(2,3),6,8,5
[ RN
B 4 650 794K 4-9 360 & 4-8 630/ &R 4-7-9 640M
# B 4 160/ 4-7 240 B E 4-9 970M EE 4-9-7 5,890M
9 1004 7-9 220M B H 4-9 2,460M
7 1309

ABICOVWTRDTEEERROODE. TR LIV,




